APW 430

VXA —{FEENE

By yva—{F520VE YLt MEFE UEaURUy vy a2—G6R
7 T ILE e . HMEER
BRAET 4 LA (Bl)
O ORBAHMEY s
: PASE | Ty v —FH
= TryE—mRyy AHIE ] |
—1) 7 b
ot ﬂﬁTJ‘L‘I’x—)bh‘o v=a 27 G e
T ———
= % - MRAR—ILE i - RAR—ILfF
Ty via—H
[e] ™ i
3 —+ (FEs) ©
[aN] N
S
T 154 - FAR—L® 142 - WEKR—ILA
™| vy 2 —FH
<85
==~
S S 1= 21|
© 1% - AR —ILE
o
b 3 4.9 ol < oo Ayt
T I AV g;g @ 4 MEREGEE
||+
1] T 4 |BREERS oy 1 WEmeE=l/0 @PEEE=IA-0
s8] = # 1)l B3l ] ] hsal | 1)l o3
¥ I, < R E
A @ ’ #EE
<) | ¥
E g iﬂ : H l"ﬂl D g = ”%::%H =
U L] Sl )
| - AT il = |
I > = ] k=]
il & I I 2.7 _ _
‘ NI R | e I—
) juis [ ﬁ:rg‘/ -~ “l s Lng o el
s 5 = ] b3 S e er—f
Niﬁ L\ | —
43.7| 135 39 96 T  srizs 62 || 62 |
135 MO—— 10
ADEAO=W2-216
Bks—F (S |
Bko— b (g
70
|
| I . p
N ——J
@ :
—=)
= | 4
Py yH-iRy Y Rig=W+73
4| 56 Sy R-w=W—47 5 |4
23 33 33 23
S—yvy (Bl)
g
AEFERN=1/2-14 WEHkiE=W,2—51 / "!!H
— H
] — | /,_ X
1l E N o
Y
23,57 2
= < | BikT—7 (Bl&)
U 2P/ mEmke—r o
Jg&l [ L/
—
uid
4] 19] 54 | actoov. 7—= | 64 54 19| || 4
96 HERET 4 LA (Bl
1130 |20 REE T iAW 20[30 |1
52.5 W 52.5




